RESOLUTION NO. 1761

A RESOLUTION OF THE CITY OF WILSONVILLE APPROVING THE BID PROCESS; ACCEPTING THE LOWEST RESPONSIBLE BID; AWARDING THE CONTRACT TO DANEAL CONSTRUCTION, INC., THE LOWEST RESPONSIBLE BIDDER; VERIFYING FUND AVAILABILITY; FOR THE PROJECT KNOWN AS CHARBONNEAU SEWER PRESSURE MAIN IMPROVEMENT PROJECT.

WHEREAS, the city approved a motion at regular meeting in June, 2001, for the 2001/02 fiscal year, adopting an appropriation of \$100,000 for the Charbonneau Sewer Pressure Main Improvement Project; and

WHEREAS, the Charbonneau Sewer Pressure Main Improvement Project was duly advertised for competitive bids in the Daily Journal of Commerce, a newspaper of general circulation; and

WHEREAS, four (4) sealed bids were received prior to 10 a.m., local time, at the community Development Department, 8445 SW Elligsen Road, Wilsonville, Oregon, 97070. Bids were then opened individually and separately read aloud after 2 p.m., local time, April 30, 2002. The designer engineer's recommendation and summary of bids is marked "Exhibit A", attached hereto and incorporated herein; and

WHEREAS, the lowest bid of \$92,011.90 by DaNeal Construction, Inc. is, upon recommendation of the City Engineer, responsive and balanced, satisfactory in all respects; and

WHEREAS, in the public interest the City Council acting as the Local Contract Review Board may exercise its rights to reject any bids and waive informalities as reserved in its Notice To Bid; and

WHEREAS, the City of Wilsonville desires to execute a Construction Contract Agreement in a timely manner.

NOW, THEREFORE, THE CITY OF WILSONVILLE RESOLVES AS FOLLOWS:

- 1. The City Council acting as the Local Contract Review Board finds and concludes:
 - a. The recital of findings above are incorporated by reference herein.
 - b. The bid of DaNeal Construction, Inc. is deemed responsive. DaNeal Construction, Inc. is the lowest responsible bidder and is qualified for the work.

- 2. Subject to the final review and approval of the City Engineer and in accordance with the provisions of the Oregon Revised Statutes, Chapter 279, Public Bids and Contracting and Wilsonville Code 2.3.14, Contracts with the city, and the Attorney General's Model rules which the City has adopted as its contracting rules; the City Council acting as the contract Review Board hereby awards the contract for the Charbonneau Sewer Pressure Main Improvement Project to DaNeal Construction, Inc., the lowest responsible bidder in the amount of \$92,011.90.
- 3. Subject to final completion of all improvements specified in the contract documents and any supplemental changes, the City Engineer is authorized to certify the required improvements complete and make final payment including release of retainage.
- 4. The City Engineer is authorized to approve change orders to this contract so long as total project costs do not exceed the budget amount.
 - 5. Authorize the expenditure of project funds as budgeted or amended from:

ACCOUNT

AMOUNT

520-49130-5000-239

\$210,000

ADOPTED by the Wilsonville City Council at a regular meting thereof this 6th day of May, 2002, and filed with the Wilsonville City Recorder this date.

CHARLOTTE LEHAN, Mayor

ATTEST:

Sandra C. King, City Recorder, CMC

SUMMARY OF VOTES:

Mayor Lehan Yes

Councilor Helser <u>Excused</u>

Councilor Barton Yes

Councilor Kirk Yes
Councilor Holt Yes

	Item		Unit	Engineers Estimate		DaNeal Construction Inc.			Emery & Sons			Landis & Landis Construction		
Item No.		Qty		Unit Price	Total Amount	Unit Price		Total Amount	Unit Price	Total Amount		Unit Price	Total Amount	
1	Mobilization	1	LS	\$2,800.00	\$ 2,800.00	\$1,000.00	\$	1,000.00	\$10,000.00	\$	10,000.00	\$12,000.00	\$	12,000.00
2	General Bonding and Liability Insurance	1	LS	\$8,000.00	\$ 8,000.00	\$2,500.00	\$	2,500.00	\$1,300.00	\$	1,300.00	\$5,500.00	\$	5,500.00
3	Clearing & Grubbing	1	LS	\$300.00	\$ 300.00	\$500.00	\$	500.00	\$340.00	\$	340.00	\$1,000.00	\$	1,000.00
4	Pavement Removal	1	LS	\$2,600.00	\$ 2,600.00	\$1,200.00	\$	1,200.00	\$2,400.00	\$	2,400.00	\$2,500.00	\$	2,500.00
5	Erosion Control	1	LS	\$3,600.00	\$ 3,600.00	\$500.00	\$	500.00	\$1,700.00	\$	1,700.00	\$3,500.00	\$	3,500.00
6	Tree Removal	4	EA	\$600.00	\$ 2,400.00	\$150.00	\$	600.00	\$200.00	\$	800.00	\$300.00	\$	1,200.00
7	Bio-Barrier	520	LF	\$3.00	\$ 1,560.00	\$3.00	\$	1,560.00	\$7.00	\$	3,640.00	\$3.00	\$	1,560.00
8	10" HDPE Butt Fused Pipe	714	LF	\$20.00	\$ 14,280.00	\$15.15	\$	10,817.10	\$15.00	\$	10,710.00	\$12.00	\$	8,568.00
9	Trench Excavation, Bedding, Pipe Zone and Class *B* Backfill	540	LF	\$20.00	\$ 10,800.00	\$15.37	s	8,299.80	\$13.00	s	7,020.00	\$23.00	\$	12,420.00
10	Trench Excavation, Bedding, Pipe Zone and Class "A" Backfill	112	LF	\$15.00	\$ 1,680.00	\$12.00	\$	1,344.00	\$12.00	s	1,344.00	\$25.00	\$	2,800.00
11	Manufactured HDPE 45 Degree Bends	9	EA	\$300.00	\$ 2,700.00	\$383.00	\$	3,447.00	\$350.00	\$	3,150.00	\$150.00	\$	1,350.00
12	Bridge Crossing Improvements including carrier pipe and related work.	1	LS	\$38,000.00	\$ 38,000.00	\$15,870.00	\$	15,870.00	\$35,000.00	\$	35,000.00	\$29,000.00	\$	29,000.00
13	10° Flanged Expansion Joint	1	EA	\$2,400	\$ 2,400.00	\$600	\$	600.00	\$2,000	\$	2,000.00	\$1,800	\$	1,800.00
14	Flat Top Manhole 0'-8' Depth (48" Diameter) With Tamperproof Cover & Coating	1	EA	\$3,800.00	\$ 3,800.00	\$5,500.00	\$	5,500.00	\$2,100.00	s	2,100.00	\$3,000.00	\$	3,000.00
15	Flat Top Manhole 0'-8' Depth (60" Diameter) With Watertight Cover & Coating	1	EA	\$5,200.00	\$ 5,200.00	\$8,500.00	\$	8,500.00	\$4,900.00	\$	4,900.00	\$5,000.00	\$	5,000.00
16	Additional Depth (60° Diameter)	3	LF	\$300.00	\$ 900.00	\$800.00	\$	2,400.00	\$215.00	\$	645.00	\$300.00	\$	900.00
17	18" PVC 3034 Pipe	20	LF	\$30.00	\$ 600.00	\$35.00	\$	700.00	\$22.00	\$	440.00	\$35.00	\$	700.00
18	10° Ductile Iron Pipe Class 52	15	LF	\$20.00	\$ 300.00	\$35.00	\$	525.00	\$16.00	\$	240.00	\$15.00	\$	225.00
19	12" Ductile Iron Pipe Class 52	5	LF	\$40.00	\$ 200.00	\$40.00	\$	200.00	\$60.00	\$	300.00	\$15.00	\$	75.00
20	12" Wye	1	EA	\$600.00	\$ 600.00	\$1,280.00	\$	1,280.00	\$880.00	\$	880.00	\$1,200.00	\$	1,200.00
21	12" Solid Sleeve	1	EA	\$280.00	\$ 280.00	\$529.00	\$	529.00	\$280.00	\$	280.00	\$350.00	\$	350.00
22	10° Solid Sleeve	1	EA	\$250.00	\$ 250.00	\$529.00	\$	529.00	\$130.00	\$	130.00	\$175.00	\$	175.00
23	12" x 10" Reducer	2	EA	\$400.00	\$ 800.00	\$887.00	\$	1,774.00	\$580.00	\$	1,160.00	\$750.00	\$	1,500.00
24	10° Pinch Valve with Valve Box	2	EA	\$3,200.00	\$ 6,400.00	\$4,388.00	\$	8,776.00	\$4,000.00	\$	8,000.00	\$5,000.00	\$	10,000.00
25	10" DIP 90 Degree Bend	1	EA	\$200.00	\$ 200.00	\$505.00	\$	505.00	\$220.00	\$	220.00	\$250.00	\$	250.00
26	10" DIP 45 Degree Bend	3	EA	\$200.00	\$ 600.00	\$482.00	\$	1,446.00	\$180.00	\$	540.00	\$230.00	\$	690.00
27	Remove Existing Gate Valve, Reducer, connect to existing pipe and test pipe	1	LS	\$6,800.00	\$ 6,800.00	\$2,500.00	\$	2,500.00	\$2,000.00	\$	2,000.00	\$1,000.00	\$	1,000.00
28	3/4"-0 Crushed Aggregate Base	70	CY	\$28.00	\$ 1,960.00	\$18.00	s	1,260.00	\$32.00	\$	2,240.00	\$28.00	\$	1,960.00
29	Class Modified "C" Asphalt	102	TON	\$80.00	\$ 8,160.00	\$50.00	\$	5,100.00	\$48.00	s	4,896.00	\$80.00	\$	8,160.00
30	Embankment	1	LS	\$1,000.00	\$ 1,000.00	\$1,000.00	\$	1,000.00	\$700.00	\$	700.00	\$5,000.00	\$	5,000.00
31	Hydro Seeding	1	LS	\$400.00	\$ 400.00	\$1,000.00	\$	1,000.00	\$3,000.00	\$	3,000.00	\$1,000.00	\$	1,000.00
32	Rock Excavation	5	CY	\$250.00	\$ 1,250.00	\$50.00	\$	250.00	\$140.00	\$	700.00	\$100.00	\$	500.00
				Total	\$ 130,820.00		\$	92,011.90		\$	112,775.00	-	\$	124,883.00

	1		, '	Engineer	G.V.S. Contracting				
tem No.	ltem	Qty	Unit	Unit Price	Total Amount	Unit Price	Total Amount		
1	Mobilization	1	LS	\$2,800.00	\$ 2,800.00	\$7,500.00	\$	7,500.0	
2	General Bonding and Liability Insurance	1	LS	\$8,000.00	\$ 8,000.00	\$2,250.00	\$	2,250.0	
3	Clearing & Grubbing	1	LS	\$300.00	\$ 300.00	\$4,500.00	\$	4,500.0	
4	Pavement Removal	1	LS	\$2,600.00	\$ 2,600.00	\$5,000.00	\$	5,000.0	
5	Erosion Control	1	LS	\$3,600.00	\$ 3,600.00	\$2,000.00	\$	2,000.0	
6	Tree Removal	4	EA	\$600.00	\$ 2,400.00	\$500.00	\$	2,000.0	
7	Bio-Barrier	520	LF	\$3.00	\$ 1,560.00	\$6.00	\$	3,120.0	
8	10" HDPE Butt Fused Pipe	714	LF	\$20.00	\$ 14,280.00	\$30.00	\$	21,420.0	
9	Trench Excavation, Bedding, Pipe Zone and Class "B" Backfill	540	LF	\$20.00	\$ 10,800.00	\$46.00	s	24,840.0	
10	Trench Excavation, Bedding, Pipe Zone and Class "A" Backfill	112	LF	\$15.00	\$ 1,680.00	\$38.00	\$	4,256.0	
11	Manufactured HDPE 45 Degree Bends	9	EA	\$300.00	\$ 2,700.00	\$650.00	\$	5,850.	
12	Bridge Crossing Improvements including carrier pipe and related work.	1	LS	\$38,000.00	\$ 38,000.00	\$32,300.00	s	32,300.	
13	10" Flanged Expansion Joint	1	EA	\$2,400	\$ 2,400.00	\$1,516	\$	1,516.	
14	Flat Top Manhole 0'-8' Depth (48" Diameter) With Tamperproof Cover & Coating	1	EA	\$3,800.00	\$ 3,800.00	\$3,500.00	\$	3,500.	
15	Flat Top Manhole 0'-8' Depth (60" Diameter) With Watertight Cover & Coating	1	EΑ	\$5,200.00	\$ 5,200.00	\$6,500.00	\$	6,500.	
16	Additional Depth (60° Diameter)	3	LF	\$300.00	\$ 900.00	\$500.00	\$	1,500.	
17	18° PVC 3034 Pipe	20	LF	\$30.00	\$ 600.00	\$70.00	\$	1,400.	
18	10° Ductile Iron Pipe Class 52	15	LF	\$20.00	\$ 300.00	\$60.00	\$	900.	
19	12" Ductile Iron Pipe Class 52	5	LF	\$40.00	\$ 200.00	\$70.00	\$	350.	
20	12" Wye	1	ΕA	\$600.00	\$ 600.00	\$950.00	\$	950.	
21	12" Solid Sleeve	1	EA	\$280.00	\$ 280.00	\$550.00	\$	550.	
22	10° Solid Sleeve	1	EA	\$250.00	\$ 250.00	\$550.00	5	550.	
23	12" x 10" Reducer	2	EA	\$400.00	\$ 800.00	\$1,200.00	\$	2,400.	
24	10" Pinch Valve with Valve Box	2	EA	\$3,200.00	\$ 6,400.00	\$3,700.00	5	7,400.	
25	10° DIP 90 Degree Bend	1	EA	\$200.00	\$ 200.00	\$450.00	\$	450.	
26	10° DIP 45 Degree Bend	3	EA	\$200.00	\$ 600.00	\$450.00	\$	1,350.	
27	Remove Existing Gate Valve, Reducer, connect to existing pipe and test pipe	1	LS	\$6,800.00	\$ 6,800.00	\$2,500.00	s	2,500	
28	3/4*-0 Crushed Aggregate Base	70	CY	\$28.00	\$ 1,960.00	\$65.00	\$	4,550.	
29	Class Modified "C" Asphalt	102	TON	\$80.00	\$ 8,160.00	\$88.50	\$	9,027	
30	Embankment	1	LS	\$1,000.00	\$ 1,000.00	\$3,500.00	\$	3,500	
31	Hydro Seeding	1	LS	\$400,00	\$ 400.00	\$1,500.00	\$	1,500.	
32	Rock Excavation	5	CY	\$250.00	\$ 1,250.00	\$400.00	- '	2,000	
				Total		*	1	167,429.	